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Sparrow sdvised her children. :

a) Mother

i) To play with the cat. |
ii) Not to play with the cat. [ <25 |

i) Obedient [ 1} 0

R 3

\
. .5
% 6) The youngest baby sparrow was dﬁ(‘bf QIene ,

| ii) Disobedient [ \{o Q|
| ¢) The eldest baby sparrow was LQM'“ gic e

P ——

i) Not loving elders [ |0

S

| i) Respecting elders Nes




Il1 1) The children would become go0d human beings.

(10} ii) The children would quite often get into trouble. 7

. Wlpat would happen if st

udents came to scho
of and |
cf!d not obey thej, teachers ? 5

i) All the students would get good marks.

ii) Teachers would loye them.

i

iii) Discipline could be maintained in the school campus.

iv) Principal would give punishment for disobedience. 7

6) What would happen if children disobeyed their par-

M ents ?
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